PERFORMANCE TECHNOLOGY

0 s A s B

Ccauong Big Bore Springs Rear (Long) Big Bore Springs Front (Medium) Front and Rear Wheels
CR178 CORE RC Big Bore Spring Tuning Set; Long 7prs CR177 CORE RC Big Bore Spring Tuning Set; Med 7prs JC3347W  Mono 2.2" Front Wheel (White)-4pc -2wd U4661  Wheel; Hex - Slim - 2WD - White ‘
CR184  Big Bore Spring; Long White - 1.8 pr CR179  Big Bore Spring; Med White - 2.8 pr JC3347Y  Mono-2.2" Front Wheel (Yellow)-4pc - 2wd U7454  Wheel Front Slim 2WD - Neon Yellow v2 - pr
CR185 Big Bore Spring; Long Red - 2.0 pr CR180 Big Bore Spring; Med Red - 3.1 pr JC3348W  Mono-2.2" Rear Wheel (White)-4pc U7455  Wheel Front Slim 2WD - Neon Yellow v2 - 5pr
CR186  Big Bore Spring; Long Green -2.2 pr CR181 Big Bore Spring; Med Green - 3.4 pr JC3348Y Mono-2.2" Rear Wheel (Yellow)-4pc U7456  Wheel Front Med 2WD - Neon Yellow v2 - pr
CR187  Big Bore Spring; Long Blue - 2.4 pr CR182 Big Bore Spring; Med Blue - 3.7 pr JC3376W  Mono-2.2" Slim Front Wheel (White)-4pc U7457  Wheel Front Med 2WD-Neon Yellow v2 - 5pr
CR188 Big Bore Spring; Long Black - 2.6 pr CR183  Big Bore Spring; Med Black - 4.0 pr JC3376Y  Mono-2.2" Slim Front Wheel (Yellow)-4pc U7460 Wheel Rear Off-Road - Neon Yellow v2 - pr
CR699  Big Bore Spring; Long Orange - 2.8 pr CR635 Big Bore Spring; Med Orange - 4.3 pr U4365 Wheel; Hex Rear - Black - Off Road - pr U7461  Wheel Rear Off-Road - Neon Yellow v2 - 5pr
CR700 Big Bore Spring; Long Yellow - 3.0 pr CR636  Big Bore Spring; Med Yellow - 4.6 pr U4366 Wheel; Hex Rear - White - Off Road - pr U7466  Wheel Front Slim 2WD - White - 5pr \ Ny,
-U7728 CR808 High Response Spring; Long Red - 2.0 Ib/in (pr) ~ o U4367 Wheel; Hex Front - Black - 2wd - pr U7467  Wheel Front Med 2WD - White - 5pr - e
REAR FRONT | cRe0o  High Response Spring; Long Green - 2.2 Ibfin (pr) U4368  Wheel; Hex Front - White - 2wd - pr U7469  Wheel Rear Off-Road - White - 5pr PRO 1/10th 2WD Off-Road Buggy
CR810 High Response Spring; Long Blue - 2.4 Ib/in (pr) U4660 Wheel; Hex - Slim - 2WD - Black
U8555 CR811  High Response Spring: Long Black - 2.6 Ib/in (pr) L J U7339
CR812  High Response Spring Tuning Set Long 4prs
—{(U3667 = | ) ! ur1oe
U4275 KB
(Us754) -':/@3754] S CR282Ti
-U7106
U8380 U7108 u7611 o
. Us400
U7630 U4386 4
Gear Diff Complete U7106

U4176

\

U7634 KB
Us578 AL

U7975 (mid) AL
U7976 (hiflo) AL

Us643 KB
Us211 AL
Us212 BR

&)

i
U7900 . 1
\ TINS CVD Driveshaft Complete U2698 KB
(See Rear Wheel Hexes Below () u3r08 . U4946 Pro
V82T4)" (st u3s34 Us274

)
-
X A
[See Rear Wheels Above]

U2698 KB
Ur692 ) oF U4946 Pro

4

u7697

Wheel Nuts - M4 Serrated Flanged

V3136 KB CR024 CORE RC - Serrated M4 Steel Wheel Nut pk4 u7900

U4344 Pro CRO35 CORE RC - Serrated Alloy M4 Nuts; Blue pk 4 s St U4726 Pro
U3834 u7677 CR036 CORE RC - Serrated Alloy M4 Nuts; Violet pk 4 , Ugg K_B} [U o KB}
/ 07671 (710 CR196  CORE RC - Serrated Alloy M4 Nuts - Black - pkd ' u8639 i U8s76 AL
_ CR304 CORE RC - Serrated M4 Titanium Wheel Nut pk4 (U4220)
\l:"" . CVD Driveshaft Complete U8581 . U7400 Serrated M4 Low Profile Titanium Wheel Nut pk4

T

<L, Front Wheel Hexes 5

DIRT SPEC oan 5 s N 1

CoSGA < U619 Alloy Wheel Hex 4mm (-2.0 EXPLODED VIEW KEY

pr KB
1 KB = Kit Build, AL = Alloy, BR = Brass,

pr CF = Carbon Fibre, Ti = Titanium, St = Steel,
KC = Kashima Coated, Mf = Medium Flex,

( )
Rear Wheel Hexes

\ f U8429  Alloy Wheel Hex 4.5mm pr (-1.5)
U8619  Alloy Wheel Hex 4mm (-2.0) pr KB LD3D U7646  Alloy Wheel Hex 5.25mm (-0.75)

U8429  Alloy Wheel Hex 4.5mm (-1.5) pr

STOCK SPEC
: U7646  Alloy Wheel Hex 5.25mm (-0.75) pr \ .
U7398  Alloy Wheel Hex 6mm (0) pr Sf = Stiff Flex, CNC = Machined,

e 0 I U7402  Alloy Wheel Hex 6.75mm (0.75) pr Pro = Precision Bearing, Ce = Ceramic Bearing,

. 3
-, W
\ 3 = W |
m{‘ U7403  Alloy Wheel Hex 7.5mm (1.5) pr KB LD3M & LD3S U8502 3 Plate Slipper Clutch Conversion CFf = Carbon Fibre Filled.
— . J

U8543  Alloy Wheel Hex 7.5mm (1.5) Black pr

L J




